25 EX

3 EX2ele aEsHEERXANAMNL/XARLEAI)
SRl NXHSAC EXHE 29 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
EXI 1 5,840,650 7,120,435 1,279,785
= 5,068,49%
= 772,154
EX2Le EE2HIELXSIML/NSLZAl) 5,800,769 7,079,291 1,278,522
= 5,068,4%
= 732,273
DASEe EXYE 2 860,589 873,197 212,608
= 847,889
=S 12,700
EXZel & HHEN =t 7,700 7,770 AT0
201 er23 | 4,200 4,200 0
01 At2teltl 4,200 4,200 0
OZXAL =& 2FEIIHA A== 2
g 4,200
202 04| 3,500 3,570 AT0
01 2L AL 3,500 3,570 AT0
OEXZel & HlZEA &E 3,500
HEZARIL HREFX(Z1) 852,889 865,427 A12,538
= 847,889
= 5,000
201 er23 | 6,000 8,000 22,000
= 3,000
== 3,000
01 At2teltl 6,000 8,000 A2,000
OHESAIXIL R 6,000
= 3,000
< 3,000
202 04| 4,000 4,000 0
= 2,000
= 2,000
01 =LHO LI 4,000 4,000 0
OIESAIXIIL HREFA 4,000
= 2,000
=S 2,000
308 AHXIEMSOIH 842,889 853,427 10,538
= 842,889
01 AXH B2 LS 842,889 853,427 10,538
OIHESAIXIOL ZAF E AHH 842,889
= 842,889
EXNNE 2& 522,731 684,520 161,789
= 373,000
= 149,731
NE=g o2l 24,531 14,520 10,011
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M EX
3 EX2ele aEsHEERXNAMNL/XARLTAI)
gelr EXNE 2 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 14,331 4,320 10,011
01 At2teltl 13,720 4,320 9,400
OXHeEs 29 3,720
Oz2tdIlld 2&ae] 10,000
02 S3=gHl 611 0 611
OXNHAHIUEL dE A 611
202 04| 10,200 10,200
01 =LH LI 10,200 10,200
OXNHEY durac 10,200
X=ze(21) 60,000 70,000 10,000
= 60,000
308 AHXIHMSO0IA 60,000 70,000 10,000
= 60,000
01 HAHHBSEEXS 60,000 70,000 10,000
ONEPR| LLEX U PSMAIREL S B
2 60,000
= 60,000
272 0ISEEX Ul AFE(21) 84,000 150,000 266,000
= 60,000
= 24,000
308 AtAIEMSOIE 84,000 150,000 66,000
= 60,000
= 24,000
01 XN EES 84,000 150,000 266,000
OAAR DISEEXN UASE € =R/a=F
& 84,000
= 60,000
s 24,000
AEXIEE FH AF(=1) 364,200 450,000 /95,800
= 253,000
S 101,200
308 AtAIEHMSOIE 354,200 450,000 /95,800
= 253,000
= 101,200
01 AXEHBSEES 354,200 450,000 295,800
ondY HENHT MAH 7= 354,200
= 253,000
= 101,200
SUHEEE - X2 A 178,750 1,027,068 848,318
SUHIEANY =8 & YREA 178,750 1,027,068 848,318
201 er23| 67,250 115,568 48,318
01 At2teltl 2,250 3,600 1,350
OTWIIRIY 45 U TY442 S 2,50
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SA: EXI
3 EX2ele SEsHEERXNAMNL/XARLEAI)
(= BPNESN, ERVA PN g2 (CHe) &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| OXNEMZEAAY FT 5,000
KIHTHEAALY F=&(=21) 3,847,607 4,107,618 A260,011
= 3,847,607
201 2egh=3| 8,000 8,000 0
= 8,000
01 AtR2t2|HI 8,000 8,000 0
OXNHMEAIRIEE =2 & S22 A 8,000
= 8,000
202 04dl 2,000 2,000 0
= 2,000
01 SLHoIH 2,000 2,000 0
ORXETHEAIALY =& 2,000
= 2,000
308 AHXIHMSO0IA 3,837,607 4,097,618 260,011
= 3,837,607
01 HASHHBSEEXS 3,837,607 4,097,618 A260,011
OXIETHZAL AFS 3,837,607
= 3,837,607
AH2AZYI(EXN) (OIEHIIEL) 39,881 41,144 N1,263
=238l 39,881 41,144 1,263
FA2E Jl=2EH| 39,881 41,144 A1,263
201 =3 26,903 28,584 1,681
01 At22t2lt] 26,903 28,584 21,681
OR N2 AtR2clH] 26,903
202 04l 8,778 8,360 418
01 2LHoIH 8,778 8,360 418
SA2E U 8,778
203 g2l 4,200 4,200
MU A2 LRSI 4,200 4,200
©2521 0lat 350,000 x 122 4,200
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